2 KEEEH

2-1 RORAS

(1) FENEGEE. KBIE. KOBOABEKEIELEE.

(2) BMHFE2i1£TD (RUR. KEZIRLS) . KIBREIIBHF R THIN., BEHF
Z2H1E L TEDIRS,

(3) FEFERMFIEZTRT . KOBICDWTIIEBHEDERBFIIEZRT

(4) FHEDSTEICHWT. EETRERBDZSIEETREE LU TEHRT D, BHE
[CDWTIE>50 EDiZE(E 50 B (HEE. KEBE. K21EE>100E%= 100 E) &U
TEHIT 3.

(5) $IEB (DJx/—I)VEKUHE) OFEEE. EETRIENU EORENSEH T D,
[-] [FFABRUEINRTOBRENEE FRIERBE CholcC&EZRT,

(6) N.D.FEHENRWCE (EETREZTERISCE) Z2RY.

(7) BREICDUVT. 5EXEZ0.5EEZEHTRET B,

(8) N AFHHMEYIBEDIRE FIRMECDULT, A 5 s (HFEE. BEiE. K815,
B5)AE. KDHE) ROMEIERSMNE 2mg/L.

(9) EEROIMETIRMEICDLT. ERII 5 ithm (REE. BEEiE. K85, BIIE. K
DE) KUOMHELSMNE 0.05mg/L.

(10) Jx/—)VEDIRETRMEICDWNT., EXEEAA 3 ihsm (H5EE. KBiE. KD
¥8) KUOMHEE(L 0.01mg/L.

(11) #UKIB&E(E. KERTUI7ILFILKIBEZDMDKIBIEED ZERT .
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2-2 AIFESEEHETIRE
IEE% RIETFE RS T IRAE BAfT
=8 JIS K 0102-7.1 e
_m P JIS K 0102-7.2 C
1; B J1S K 0102-9 [
g |28 JIS K 0102-10.1 E4E;
94 JIS K 0102-8
pH JIS K 0102-12.1 H S ABIBE
BOD JIS K 0102-21%032.3 FRISEIEE 0.5|mg/L
coD JIS K 0102-17 100CICHIFBBI A CEH U DAL L ZHEYEES 0.5|mg/L
% [ss S46IBEESIS RS SBERE 1|mg/L
; DO JIS K 0102-32.3 fREESEME. JIS K 0102-32.4 #FR > HiE 0.5|mg/L
g [AFT i S46IBEESOS R4 MHDBER S 0.5(2)%2|mg/L
5 2ER JIS K 0102-45.2 $9MRIHESE 0.01 (0.05)*3|mg/L
é 204 JIS K 0102-46.3.1 RILAFY —FrBEEH U ™ ADEE 0.003|mg/L
LT JIS K 0102-53.3 ICPRALADITE 0.001|mg/L
JZILTT - SA6IBEESOSfHR1L 0.0002|mg/L
LAS SAGIBEESIS (K12 0.0006|mg/L
HRIOA JIS K 0102-55.3 ICPENS KL 0.0005|mg/L
237> JIS K 0102-38.1.2/%0f38.3 4-E US> LRI B-E S5V O D IRELE S 0.1|mg/L
8 JIS K 0102-54.3 ICPENS KL 0.005|ma/L
IS0 L JIS K 0102-65.2.1 ST T TILAILINS RIREHREE 0.01|mg/L
V% J1S K 0102-61.3 IKFALMFEICPEA D KAWL 0.005|ma/L
HokER SAGIEREEESS 1R BTN 0.0005|mg/L
PCB SA6IBEESOS R4 0.0005|mg/L
SoOO0OAS> JIS K 0125-5.2 A RZRR—IHRHOT NS TBEDHE 0.002|mg/L
miE bR JIS K 0125-5.2 A RRR—IHRHOY NS TEESHE 0.0002|mg/L
1,2-So00I5> JIS K 0125-5.2 Ay RZRR—IHRHOT NS TBEDHE 0.0004|mg/L
8 [11-soooTFL> JIS K 0125-5.2 AW RZR—IHRHOX NS TEESHE 0.01|mg/L
22-1,2-200IFL> |IIS K 0125-5.2 Ay RAR—ZH RO NS TBEDHE 0.004|mg/L
& 1,1,1-~rUoO0TS> JIS K 0125-5.2 A\ RRR—IHRHOY NS TEESHE 0.1|ma/L
& |L12-huonoTs> JIS K 0125-5.2 A RZRR—IHRHOT NS TBEDHE 0.0006|mg/L
NUsOOIFL> JIS K 0125-5.2 A RRR—IHRHOY NS TEESHE 0.001|ma/L
g [=rSoooxFL> JIS K 0125-5.2 A RZRR—IHRHOT NS TBEDHE 0.0005|mg/L
1,3-so007OR> JIS K 0125-5.2 Ay RRR—IHRHOY NS TEESHE 0.0002|mg/L
FOISA S4GIBEESIS (RS 0.0006|mg/L
TTy SAGIBEESISIR6ME 1 BUlAL-H /0 NS TEEDTE 0.0003|mg/L
FARZAILT SAGIBEESOSAE6ME 1 ENRiE-HII0T NS TEESE 0.002|mg/L
R JIS K 0125-5.2 A RRAR—IHRHOY NS TEESHE 0.001|ma/L
L J1S K 0102-67.3 KIALAIFLEICPRN S K IE 0.002|mg/L
R ERROEMEBIEESR (JIS K 0102-43.1.2%043.2.5 1 A> 00X NS T 0.02|mg/L
AR SAGBEESIS[ERT AL IOT NS TE 0.08|mg/L
F>% JIS K 0102-47.3 ICPENS KL 0.02|ma/L
1,4-SAFH> SAGBEESISMAHRBDES Ay RIR—IHRIOT IS TEEIE 0.005|mg/L
R RTY JIS K 0102-28.1.1%U28.1.2 4-7 = J P72 FE U VIR EE 0.05 (0.01)*|mg/L
o |48 JIS K 0102-52.4 ICPEXDLDIHE 0.01|mg/L
z |[EtmrA> J1S K 0102-35.3 1 A>00O0% MIS Tk 1|ma/L
D |1 A REEER JIS K 0102-30.1.2 TFILIA AL NRAEHEE 0.01|mg/L
i |m&izEz JIS K 0102-13 1|ms/m
GF) BRECDVWT, SEXREF0.CEESSHTAETSD

SERICDNT. EMIISHER (RERS.
JI/—)UICDVT, EXREERAE3MS (hEE.

5

1

2 n-AFHAmEE
3

4

[CDWT. ERIISHE (HEEE.

REE. KEBE. B,
RaE.

REBIE. 7KD18) RUMH=E(30.01mg/L
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IKDHE) HROMEESME2mg/L
KEBIE. BB, K3H8) RUMHZESHME0.05mg/L




2-3 SHSFEMAIIIKERAERR (FF9E)
No. 1 | 2 [ 3 | 4 5 6 7 8 9
A & E W fisk) 1| PRI | FREEEI | BZEI
RIEH R
BEEE HEE | RO BE | BIE | Ko | BIE | ARG | BEE | KRS
pH 7.6 7.5 7.7 7.6 7.2 7.4 7.6 7.8 7.5
B (0] D| mg/L 1.0 0.8 1.2 1.0 3.2 0.6 0.9 0.6 0.6
C (0] D| mg/L 3.2 3.3 3.4 3.9 11 2.2 2.4 2.5 2.1
s S S| mg/L 2 3 3 5 6 1 4 1 1
= |D O| mg/L 10 10 10 10 8.6 9.7 10 9.6 9.6
B (K iZ] 51| cFu/100mL 250
B n-AN 5> H YW E mg/L <0.5 <0.5 <0.5 <0.5 <0.5 <2 <2 <2 <2
LLNPS E % mo/L 0.99 11 1.5 1.7 2.0 1.1 23] 045 1.4
B ES D A| mg/L 0.12 0.12 0.13 0.17 0.13 0.067 0.36 0.021 0.11
Ea i) g mg/L 0.010 0.027 0.008 0.021 0.015 0.025 0.017 0.020 0.017
J ZJ)b J x J — I mg/L |<0.00006| <0.0002(<0.00006( <0.0002(<0.00006( <0.0002| <0.0002| <0.0002| <0.0002
L A S| mg/L 0.0013| <0.0006| 0.0008( <0.0006| 0.0055| 0.0035| <0.0006| <0.0006| <0.0006
sl N = ) | mg/L <0.0005| <0.0005| <0.0005| <0.0005| <0.0005( <0.0005| <0.0005| <0.0005| <0.0005
£ > 7 >| mg/L N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Ei} mg/L <0.005| <0.005| <0.005| <0.005[ <0.005| <0.005| <0.005| <0.005| <0.005
AN i 0 m] | mg/L <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
[6) #&| mg/L <0.005| <0.005| <0.005| <0.005[ <0.005| <0.005| <0.005| <0.005| <0.005
e 7K iR mg/L <0.0005| <0.0005| <0.0005| <0.0005| <0.0005( <0.0005| <0.0005| <0.0005| <0.0005
P C Bl mg/L N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
> o 00 X 4% > mg/L <0.002| <0.002| <0.002| <0.002f <0.002| <0.002| <0.002| <0.002| <0.002
| 5 s o4 #&| mg/L <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002
1,2-200XI% > mg/L <0.0004| <0.0004| <0.0004| <0.0004| <0.0004| <0.0004| <0.0004| <0.0004| <0.0004
1,1-ZoO00IFL > mg/L <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
@ |>X-1,2-2>o00I1FL>| mg/L <0.004| <0.004| <0.004| <0.004| <0.004| <0.004| <0.004| <0.004| <0.004
E |1,1,1-hUoOOoxT&>| mg/L <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
H|112-vuooOoxsy> mg/L <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006
= ~UZOOIFL > mg/L <0.001| <0.001| <0.001] <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
>ShZO00IFL > mg/L <0.0005| <0.0005| <0.0005| <0.0005| <0.0005( <0.0005| <0.0005| <0.0005| <0.0005
1,3-o0O0”O/R>| mg/L <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002
F J > | mg/L <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006
B2 ~ > > mg/L <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003
F A X > I TJ| mg/L <0.002| <0.002| <0.002| <0.002f <0.002| <0.002| <0.002| <0.002| <0.002
~ > v > mg/L <0.001| <0.001| <0.001] <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
h4 L >| mg/L <0.002| <0.002| <0.002| <0.002f <0.002| <0.002| <0.002| <0.002| <0.002
THESMRR MU EEMESR| mg/L 0.77 0.74 0.92 0.89 1.1 1.0 1.8 0.43 1.2
5 ) #&| mg/L 0.13 0.10 0.12 0.10 0.11 0.09 0.13 <0.08 0.09
[E3 > #&| mg/L 0.04 0.02 0.04 0.02 0.04 <0.02 0.04 <0.02 <0.02
1,4- T A F+ B >| mg/L <0.005| <0.005| <0.005| <0.005[ <0.005| <0.005| <0.005| <0.005| <0.005
g 42 T J — JL % mg/L - - - - - - - - -
SRRz | ma/L - - - - - - - - -
o | 1t ¥ 4 A >| mg/L 8 14 8 27 5 18 2 6
B D2 > R mEEMEHR| mg/L 0.04 0.04 0.05 0.03 0.05 0.04
Hfflz & = © = mS/m 11 11 12 19 10 19
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N o 10 11 12 13 14 15 16 17
R IRLIE=E /i S=5=2F3 J\ B I A=A gkl | Rl | ETE
RIEH R
BEEE =S | HEE fHE |ATBE| RFE | EE | BRE | XIS
pH 7.5 7.8 6.7 7.3 7.1 7.2 7.6 7.2
B (0] D| mg/L 2.7 2.0 5.9 1.9 1.2 0.9 1.4 3.1
C (0] D| mg/L 7.2 6.5 21 4.5 3.9 2.6 4.9 7.5
s S S| mg/L 5 5 9 3 2 2 5 6
= |D O| mg/L 9.0 9.9 6.9 11 9.2 9.8 10 9.7
B (X ] #| cFu/100mL,
B n-AN 5> H W E mg/L <2 <2 <0.5 <2 <2 <2 <2 <2
LS = %= mo/L 4.7 2.5 2.3 4.2 3.3 2.8 2.5 4.3
B ES D A| mg/L 0.45 0.33 0.13 0.37 0.25 0.11 0.17 0.46
£ i g mg/L 0.024 0.041 0.032 0.032 0.031 0.021 0.041 0.042
J ZIJ x J — I mg/L <0.0002 <0.0002
L A S| mg/L 0.016 0.0065
sl N = ) | mg/L <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005
ES > 7 >| mg/L N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Ei} mg/L <0.005| <0.005| <0.005| <0.005( <0.005| <0.005| <0.005| <0.005
AN i 0 m] | mg/L <0.01 <0.01 <0.01 <0.01 <0.01 0.02 <0.01 <0.01
[6) #=&| mg/L <0.005| <0.005| <0.005| <0.005( <0.005| <0.005| <0.005| <0.005
i 7K iR mg/L <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005
P C Bl mg/L N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
> o 00 X 4% > mg/L <0.002| <0.002| <0.002| <0.002f <0.002| <0.002| <0.002| <0.002
| 5 s Ipd #&| mg/L <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002
1,2-200XI% > mg/L <0.0004| <0.0004| <0.0004| <0.0004| <0.0004| <0.0004| <0.0004| <0.0004
1,1-ZoO00IFL > mg/L <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
@ |>X-1,2-2>o00I1FL>| mg/L <0.004| <0.004| <0.004| <0.004( <0.004| <0.004| <0.004| <0.004
E |1,1,1-hUoOOoxT &> mg/L <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
H112-vupoOoxsy> mg/L <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006
= ~UZOoOIFL > mg/L <0.001| <0.001| <0.001] <0.001| <0.001| <o0.001 0.001| <0.001
>ShkZO00IFL > mg/L <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005
1,3-ooO0O0O/R>| mg/L <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002
F J > Al mg/L <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006
B2 ~ > > mg/L <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003
F A X > H )L TJ| mg/L <0.002| <0.002| <0.002| <0.002f <0.002| <0.002| <0.002| <0.002
~ > v >| mg/L <0.001| <0.001] <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
h4 L > mg/L <0.002| <0.002| <0.002| <0.002f <0.002| <0.002| <0.002| <0.002
THESMRR MU EEMESR| mg/L 0.59 1.8 0.49 2.7 2.2 1.6 1.3 4.2
5 ) #&| mg/L 0.11 0.10 <0.08 0.08 0.08 <0.08 0.10 <0.08
[E3 > #&| mg/L 0.04 0.04 0.03 <0.02 0.02 0.03 0.03 0.02
1,4- T A F+ B >| mg/L <0.005| <0.005| <0.005| <0.005| <0.005| <0.005| <0.005| <0.005
g 42 T J — JL % mg/L - - 0.01 - - - - -
B 2 mg/L - - - - - - - 0.01
o | 1t ¥ a4 A >| mg/L 6 46 82 19 17 15 16 45
B D2 > R mEEMEHR| mg/L 0.03 0.05 0.42 0.06 0.05 0.05 0.09 0.19
Bz & = ©@ = mS/m 11 35 98 21 21 20 20 38
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2-4 FAIKERAERR (b))
A n 2 E A
il E i = WoOE OB
" &F E S S FE
A B 4.12 5.24 6.20 7.5 8.2 9.19 10.11 | 11.15 12.6 1.10 2.14 3.8 Fi9ME
2 )3 B Z 13:05 | 9:48 10:05 | 9:09 14:18 | 9:49 12:55 | 10:25 | 11:40 | 10:42 | 10:40 | 10:57
X & --10] RIE 2 --1s] BN BN BN BN RIB --1s] BN BN

; 7K Pl C 16.3 16.7 23.0 23.6 30.5 27.2 19.6 11.4 9.2 5.3 7.3 9.0 16.6

l; iz i) El E >100 65 >100({ =100 =>100{ =100, =>100f =>100( =>100{ >100{ =>100| =>100 97

pH 7.5 7.4 7.5 7.6 8.1 7.7 7.7 7.6 7.6 7.6 7.5 7.5 7.6

B D| mg/L 1.1 1.0 1.2 0.7 1.0 1.2 0.6 0.5 1.3 0.8 1.3 1.3 1.0
C D| mg/L 3.0 3.3 3.0 2.8 3.1 3.6 3.9 2.9 3.3 3.2 3.5 3.3 3.2
S S| mg/L 4 3 1 3 2 4 2 1 1 1 2 4 2

; D O| mg/L 10 9.9 8.9 8.7 7.9 8.2 9.6 11 12 13 12 12 10

=1PN iz} #{crur100mL 150 150 350 450 94 270 440 200 90 180 540 120 250

Bln - A9 > &E moL N.D. <0.5

Is ES £ =& mg/L 0.98 0.85 0.66 0.85 0.79 0.92 0.92 1.1 1.2 1.2 1.3 1.1 0.99
ES o] Al mg/L 0.097| 0.092| 0.058| 0.059 0.11 0.17 0.11 0.16 0.17 0.18 0.16| 0.087 0.12
ES il #a| mg/L 0.009| 0.006| 0.005| 0.007| 0.008f 0.007( 0.007| 0.010{ 0.015| 0.016| 0.015f 0.010{ 0.010
J Z ) 7 T J — JU mg/L |<0.00006 <0.00006| <0.00006| <0.00006| <0.00006|
L A S| mg/L | 0.0024 0.0007 0.0006 0.0014 0.0013
sl N = v mg/L <0.0005 <0.0005 <0.0005
ES > 77 > mg/L N.D. N.D. N.D.

i mg/L <0.005 <0.005 <0.005

N i z ] L mg/L <0.01 <0.01 <0.01
[} #&| mg/L <0.005 <0.005 <0.005
% 7K iR| mg/L <0.0005 <0.0005 <0.0005
7 L F )L K R mg/L
P C B| mg/L N.D. N.D.
Z 0 O O X 4 > mg/L <0.002 <0.002 <0.002
] = 1t " =& mg/L <0.0002 <0.0002 <0.0002
12- 2 - 00 I % > mg/l <0.0004 <0.0004 <0.0004

e 1,1-> 2 00IFL > mg/l <0.01 <0.01 <0.01

B 2 X-1,2-2200IFL > mg/L <0.004 <0.004 <0.004
1,1,1- U 2 0O0XI% > mg/L <0.1 <0.1 <0.1

B 1,1,2- U o O00XI#% > mg/L <0.0006 <0.0006 <0.0006

=] YU 2 O00IFL > mg/l <0.001 <0.001 <0.001
S hc>200IFL > mg/L <0.0005 <0.0005 <0.0005
1,3- o007 0OA/R > mg/lL <0.0002 <0.0002 <0.0002
F 2 > | mg/L <0.0006 <0.0006 <0.0006
> ~ = >| mg/L <0.0003 <0.0003 <0.0003
F A N > H JL J| mg/L <0.002 <0.002 <0.002
~N > v > mg/L <0.001 <0.001 <0.001
R4 L >| mg/L <0.002 <0.002 <0.002
HBEMERRUCEHBEEERl mg/L 0.82 0.53 0.71 1.0 0.77
YN = #&| mg/L 0.11 0.15 0.13
F > =& mg/L 0.04 0.03 0.04
14- = A F B > mg/L <0.005 <0.005 <0.005

"7 o= - UL 8 mg/L <0.01 -

: i mag/L <0.01 -

=z & ® a1 A | mg/L

D « A > F @ E M A| mg/L

Ble = & = = mym
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5 i % E oA
A E ih =1 2 B B B
a F E SIS FEE
A =i 4.13 8.2 10.5 2.8 FIE
= EY = % 9:30 9:38 9:26 10:00
x (3 BBEn BN - 10] BN
ES | c 13.0 28.3 20.1 5.9 16.8
ol # = >50 >50 >50 >50 >50
pH 7.4 7.8 7.4 7.3 7.5
B Dl mg/L | <05 <0.5 1.0 1.1 0.8
C D| mg/L 2.7 2.5 4.7 3.1 3.3
%S S| mg/L 2 1 8 1 3
‘?f D o| mg/L 10 9.7 9.8 11 10
i:n SANF Y H M E mol <05 <05
B e % ma/L 11 0.89 1.0 1.4 11
E1ES n Al mo/L | 012 0.12 0.10 0.15 0.12
2 & #| mo/L | 0.031 0.010 0.016 0.050 0.027
J = 7 x J — J| mgL <0.0002 <0.0002
L A s| ma/L <0.0006 <0.0006
b2 K= 0 mg/L <0.0005 <0.0005
2 B2 77 >| mg/L N.D. N.D.
E mg/L <0.005 <0.005
A i o O 4| mg/L <0.01 <0.01
[0} %&| mg/L <0.005 <0.005
#“ X $8| mg/L <0.0005 <0.0005
7 U F K 4B mgL
P c B| mg/L N.D. N.D.
S o O O % 4 > mgL <0.002 <0.002
W™ & b Kk &| mg/L <0.0002 <0.0002
12- 5 00I% > mol <0.0004 <0.0004
B SsooTFL o] moL <0.01 <0.01
B> X-12-2o00IFL > moL <0.004 <0.004
L,1,1- U 00T % > mg/l <0.1 <0.1
Bli1o- rusoozxs > mol <0.0006 <0.0006
g/t v ooxF Ly moL <0.001 <0.001
ShS00IFL > myL <0.0005 <0.0005
13- o007 0AR > mgl <0.0002 <0.0002
F 5] S 4| mg/L <0.0006 <0.0006
> 4 s >| mg/L <0.0003 <0.0003
F A R > H L J| mgL <0.002 <0.002
~ > v >| mg/L <0.001 <0.001
t L >| mo/L <0.002 <0.002
HMEUEERRVCEHBMEERl mo/L 0.74 0.74
A > x| mg/L 0.10 0.10
i 5 | mg/L 0.02 0.02
1,4 = A F 4 > mglL <0.005 <0.005
ooz o - o om omon <0.05 -
: [ mg/L <0.01 -
z Bt W a4 A > mg/L 8 8
D 4 A& > KR mEE H E| mg/L 0.04 0.04
g i = EC E| mS/m 11 11
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Al i & Eoom o
] T it & x B &
= & = SR 5 EE
A B 412 | 524 | 620 | 75 | 82 | 919 | 1011|1115 126 | 110 | 214 | 38 | w9
i% H = 7 14:02 | 10:47 | 10:55 | 9:55 | 15:27 | 10:44 | 14:13 | 11:10 | 12:32 | 11:30 | 11:12 | 11:34
S 1® 20 | wm | 2 E0 | ®mn | mn | mn | mn | wm | 20 | mn | mn
K B C 168 183 236 244 313 283 220 122] 103] 64| o1 107 178
ol # = >100] 69| >100] >100] >100] >100] >100] >100] >100] >100] >100] >100] 97
pH 7.5 7.7 8.0 7.5 8.6 7.7 8.0 7.6 7.7 7.6 7.5 7.5 7.7
B p| mg/L 14 07 11| o5 11| 15| o8] 09 12 14 17 16 12
c p| ma/t 32 35| 30| 27 36| 37 4o 30| 36 34 38 34 34
s s| mo/L 5 2 1 2 6 3 3 2 1 2 2 5 3
Zlp o| ma/L 99 10| 10| 83 89 87 10 11 12 13 12 1 10
i:n “~NF Y W HE moL N.D. <05
B2 S | mg/L 14 11| o76] 09| 11| 15| 12] 16| 22 26 27 14 15
Bla 0 Al mgt | 011] o010 0076] 0070 o013 o015 o013 o018] 022] o017 o018 o010 0.3
S @ | mg/L | 0.007] 0.007| 0.005] 0.005| 0.005| 0.007| 0.006] 0.008] 0.009] 0.011] 0.013] o0.010] o0.008
J Z ) 7 T J — JL| mg/L |<0.00006| <0.00006 <0.00006 <0.00006 <0.00006
L A s| mo/L | 0.0011 <0.0006 0.0006 0.0008 0.0008
il R = ) mg/L <0.0005 <0.0005 <0.0005
ES > 77 >| mg/L N.D. N.D. N.D.
0 ma/L <0.005 <0.005 <0.005
X M@ - O 5| mot <0.01 <0.01 <0.01
2) % ma/L <0.005 <0.005 <0.005
# 7K R mg/L <0.0005 <0.0005 <0.0005
7 L * U Kk | moL
P C B| mg/L N.D. N.D.
s o oo % & > myL <0.002 <0.002 <0.002
] = 1t ® #&| mg/L <0.0002 <0.0002 <0.0002
12- 2 2 00O I % > mg/l <0.0004 <0.0004 <0.0004
B >so0o0zFL o mot <0.01 <0.01 <0.01
ElF2-12-vos00TFL>| moL <0.004 <0.004 <0.004
111- kU2 O00I% > moL <0.1 <0.1 <0.1
= 1,1,2- U 00T # > mg/l <0.0006 <0.0006 <0.0006
gltvsooTFL ] mo <0.001 <0.001 <0.001
> > O00IFL > mg/l <0.0005 <0.0005 <0.0005
13- o000 70AR > mglL <0.0002 <0.0002 <0.0002
¥F ) > | mg/L <0.0006 <0.0006 <0.0006
> ~ = >| mg/L <0.0003 <0.0003 <0.0003
F oA R > n L I mon <0.002 <0.002 <0.002
~ > © >| mo/L <0.001 <0.001 <0.001
+ L >| maL <0.002 <0.002 <0.002
WEMERRCEMBMEER mo/L | 001 0.67 0.88 1.2 0.92
& o %| mo/L 0.11 0.13 0.12
& 5 %= ma/L 0.04 0.04 0.04
14 A * Y > mgL <0.005 <0.005 <0.005
ooz o - o om omon <0.01 -
: [ mg/L <0.01 <0.01 -
=P € m « = | mor 11 14 9 2 14
ol « A > R @EE K H| moL
e = & ® = msm
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5 i % E oA
A E ih =1 4 B N 1&
a F E S5 FE
B B 4.13 8.2 10.5 2.8 T8
= EY B % 10:05 10:10 10:17 10:50
x (3 BBEn BN - 10] BN
ES e 14.6 28.8 20.3 6.7 17.6
s # = >50 40 49 >50 47
pH 7.5 7.9 7.4 7.6 7.6
B Dl mg/L | <05 1.1 1.3 1.2 1.0
C D| mg/L 3.1 4.0 5.1 3.3 3.9
%S s| mg/L 3 5 11 2 5
‘?f D o| mg/L 10 9.1 9.0 13 10
i:n SANF Y H M E mol <05 <05
B = % ma/L 1.8 1.7 1.2 1.9 1.7
B2 ) Al mo/L | 013 0.16 0.27 0.12 0.17
ES ] | mg/L | 0.028 0.016 0.015 0.025 0.021
J = 7 x J — J| mgL <0.0002 <0.0002
L A s| ma/L <0.0006 <0.0006
b2 K= 0 mg/L <0.0005 <0.0005
2 B2 77 >| mg/L N.D. N.D.
E mg/L <0.005 <0.005
A i o O 4| mg/L <0.01 <0.01
[0} %&| mg/L <0.005 <0.005
“ X $8| mg/L <0.0005 <0.0005
7 U F K 4B mgL
P c B| mg/L N.D. N.D.
S o O O % 4 > mgL <0.002 <0.002
W™ & b Kk &| mg/L <0.0002 <0.0002
12- 5 00I% > mol <0.0004 <0.0004
B SsooTFL o] moL <0.01 <0.01
E|¥A-L2-S000IFL > mg/L <0.004 <0.004
L,11- U2 O00I% > mglL <0.1 <0.1
Bli1o- rusoozxs > mol <0.0006 <0.0006
g/t v ooxF Ly moL <0.001 <0.001
ShS00IFL > myL <0.0005 <0.0005
13- 00 7 0AR > mgl <0.0002 <0.0002
F 5] S L] mg/L <0.0006 <0.0006
> 4 s >| mg/L <0.0003 <0.0003
F A R > H L J| mgL <0.002 <0.002
~ > v >| mg/L <0.001 <0.001
t L >| mo/L <0.002 <0.002
HEUEERRUEHEMEEFR| mg/L 0.89 0.89
A > x| mg/L 0.10 0.10
i 5 %[ mg/L 0.02 0.02
1,4 = A F 4 > mglL <0.005 <0.005
ooz o - o om omon <0.05 -
: [ mg/L <0.01 -
z Bt W a4 A > mg/L 8 8
D 4 A& > KR mEE H E| mg/L 0.04 0.04
g i = EC E| mS/m 11 11
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o n % Eoomo I
A E ih =1 5 X 9 B
a F E SIS FEE
A B 412 | 412 | 524 | 524 | 620 | 620 | 7.5 7.5 8.2 82 | 9.19 | 9.19 | 10.11
® HR B 7 9:15 | 15:15 | 9:18 | 15:18 | 8:30 | 14:40 | 8:48 | 14:48 | 8:15 | 14:35 | 8:10 | 14:30 | 8:55
x (3 - 10] -} REE BN BN BN - 10] 5] BN BN BN BN BN
ES ' 17.0| 17.0 18.8| 22.0| 23.7| 25.4| 256 250/ 303 321 280/ 325 208
ol ] {5 >100 83 95| >100| >100| =100 100 100 70 70 63 74 92
pH 7.2 7.2 7.3 7.4 7.5 7.5 7.2 7.3 7.1 7.2 6.9 7.1 7.2
B D| mg/L 1.6 2.0 1.9 1.5 2.2 1.4 1.5 0.9 3.1 4.1 8.4 5.7 2.4
c D| mg/L 4.6 5.0 4.4 5.5 8.3 17 7.5
#|s s| mg/L 5 7 4 3 4 4 4 3 7 8 11 15 6
‘?f D o| mg/L 9.4 9.5 9.8 10 8.7 9.8 7.6 8.1 7.0 8.0 5.2 6.6 8.5
i:n—/\:\’-b‘)}ﬂl&%% ma/L N.D.
IEES = %| mg/L 1.5 1.4 1.7 1.2 1.4 1.8 1.4
B n Al ma/L 0.11 0.11 0.10 0.094 0.14 0.18 0.15
2 & 8| mg/L | 0.012 0.019 0.011 0.007 0.019 0.018 0.012
J Z J 7 T J — JL| mg/L |<0.00006 <0.00006| <0.00006|
L A S| mag/L | 0.0036 0.0064 0.0022
il R = ) mg/L <0.0005
2 B2 77 >| mg/L N.D.
£ mg/L | <0.005 <0.005 <0.005
A i o O 4| mgL <0.01
[6) %| ma/L | <0.005 <0.005 <0.005
#® 7K $R| mg/L <0.0005
7 0 F ok B mg/L
P C B| mg/L N.D.
> o O 0O X 4 > mg/L <0.002
m & ® % mg/L <0.0002
12- 2 00T 4% > mgl <0.0004
B s oooTFL o moL <0.01
®|>¥X-12-2o00IFL > moL <0.004
11,1- hU 00T % > mg/l <0.1
Bli1o- rusoozxs > mol <0.0006
glbv2sooxFL > myL <0.001
FhS>00IFL > mglL <0.0005
13-4 0070AR > myl <0.0002
F 15} > | mg/L <0.0006
B 4 o >| ma/L <0.0003
F o4 R > H I I mgL <0.002
~ > v >| ma/L <0.001
t L >| mg/L <0.002
HEUEERRUEHEMEEFR| mg/L 1.0 0.83 1.0
Y =] =& mg/L 0.08
F > #&| mg/L 0.03
14 T A F B > mglL <0.005
J o J = I # mgL <0.01
il i mg/L <0.01
i; P fi# [E3 #| mg/L 0.05
ale ® ® < > 5 > moL 0.04
z ] 4| mg/L <0.01
=z & ®m a1 A | mg/L 27
D« A > KR @mE HE F| mg/L
tle & & = = mym
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5 i % E A
A E ih =1 5 X 9 B
a F E SHSEE
A B 10.11 | 11.15 | 11.15 | 12,6 | 126 | 1.10 | 1.10 | 2.14 | 2.14 | 3.8 | 3.8 | F3E
= EY B 7 15:00 | 8:34 | 14:50 | 8:42 | 14:51 | 8:26 | 14:29 | 8:23 | 14:23 | 8:40 | 15:10
x (3 BN BN BN REE BN BN - 10] RIS REE BN BN
ES ' 238 27.3| 15.7] 148/ 16.0 8.9 107 127 1s53| 185 132| 206
ol ] Bl = 92 55 88| >100| >100| >100| >100| >100| >100 81| >100 90
pH 7.2 6.9 7.3 7.1 7.1 7.0 7.0 7.0 7.0 6.8 7.1 7.2
BOD mg/L 2.6 5.9 1.9 2.7 24| 27 3.7 3.7 3.6 6.9 2.8 32
cob mg/L 26 10 5.9 12 24 11
e ss mg/L 6 15 5 4 3 3 3 7 6 11 6 6
‘?f DO mg/L 9.0 43 10 9.5 10 10 11 9.8 10 5.7 10 8.6
i;n—/\:\’-b“/}ﬂl&%%‘ ma/L <05
B -] %| mg/L 2.4 2.6 3.1 3.0 2.7 2.0
B n Al mag/L 0.13 0.13 0.099 0.14 0.18 0.13
2 & | mg/L 0.016 0.024 0.015 0.015 0.017 0.015
J Z J 7 T J — J| mg/L <0.00006| <0.00006|
L A S| mg/L 0.0098 0.0055
b2 K= 0 mg/L <0.0005 <0.0005
2 B2 77 >| mg/L N.D. N.D.
E mg/L <0.005 <0.005
A i o O 4| mg/L <0.01 <0.01
[0} %&| mg/L <0.005 <0.005
i 7K #R| mg/L <0.0005 <0.0005
7 ) F )b K R mg/L
P C B| mg/L N.D.
S o O O % 4 > mgL <0.002 <0.002
W™ & b Kk &| mg/L <0.0002 <0.0002
12- 5 00I% > mol <0.0004 <0.0004
11-2 00T F L > myl <0.01 <0.01
B> z-12-so00TFL > moL <0.004 <0.004
i 11,1- hU 00T % > mg/l <0.1 <0.1
glti2-ruUsooxT s > mL <0.0006 <0.0006
U DOOTFL > mgl <0.001 <0.001
ShS00IFL > myL <0.0005 <0.0005
13-4 0070AR > myl <0.0002 <0.0002
F 5] S 4| mg/L <0.0006 <0.0006
B 4 s >| ma/L <0.0003 <0.0003
F A R > H L J| mgL <0.002 <0.002
~ > v >| ma/L <0.001 <0.001
t L >| mo/L <0.002 <0.002
HEUEERRUEHEMEEFR| mg/L 1.4 1.1
A > x| mg/L 0.14 0.11
i 5 %| mg/L 0.04 0.04
1,4 = A F 4 > mglL <0.005 <0.005
J T J — JL #l mg/L <0.01 -
il i mg/L <0.01 -
?; & 2 i #%| mg/L 0.03 0.04
ale ® ® < > 5 > moL 0.06 0.05
7 m] In| mg/L -
=z & ®m a1 A | mg/L 27
D« A > KR @mE HE F| mg/L
tle & & = = mym
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5 i % i i
A E ih =1 6 I i)
a F E S5 FE
A =i 4.13 8.2 10.5 2.8 FIE
23 B B %l 9:50 9:55 10:08 10:15
x (3 BBEn BN - 10] BN
ES | c 11.9 26.3 20.1 5.8 16.0
ol # = >50 >50 >50 >50 >50
pH 7.4 7.5 7.6 7.1 7.4
B Dl mg/L | <05 <0.5 0.8 0.7 0.6
C D| mg/L 2.4 2.1 2.7 1.5 2.2
%S s| mg/L 1 1 2 <1 1
‘?f D o| mg/L 9.7 7.9 10 11 9.7
i;n—/\i-*)‘)}ﬂl&%% mg/L <2 <2
B = %| mg/L 11 0.80 1.0 1.6 11
E1ES n Al mg/L | 0.083 0.076 0.050 0.057 0.067
2 & #| mg/L | 0.035 0.008 0.008 0.048 0.025
J = L 7 x J — I mgL <0.0002 <0.0002
L A s| ma/L 0.0035 0.0035
b2 K= 0 mg/L <0.0005 <0.0005
2 B2 77 >| mg/L N.D. N.D.
E mg/L <0.005 <0.005
A i o O 4| mg/L <0.01 <0.01
[0} %&| mg/L <0.005 <0.005
#“ X 8| mg/L <0.0005 <0.0005
7 U F K 4B mgL
P c B| mg/L N.D. N.D.
S o O O % 4 > mgL <0.002 <0.002
W™ & b Kk &| mg/L <0.0002 <0.0002
12- 5 00I% > mol <0.0004 <0.0004
B SsooTFL o] moL <0.01 <0.01
B> X-12-2o00IFL > moL <0.004 <0.004
L,1,1- U 00T % > mg/l <0.1 <0.1
Bli1o- rusoozxs > mol <0.0006 <0.0006
g/t v ooxF Ly moL <0.001 <0.001
ShS00IFL > myL <0.0005 <0.0005
13- o007 0AR > mgl <0.0002 <0.0002
F 5] S 4| mg/L <0.0006 <0.0006
B 4 s >| mg/L <0.0003 <0.0003
F A R > H L J| mgL <0.002 <0.002
~ > v >| mg/L <0.001 <0.001
t L >| mo/L <0.002 <0.002
HEUEERRUEHEMEEFR| mg/L 1.0 1.0
A > x| mg/L 0.09 0.09
F > #&| mg/L <0.02 <0.02
1,4 = A F 4 > mglL <0.005 <0.005
ooz o - o om omon <0.05 -
: [ mg/L <0.01 -
z Bt W a4 A > mg/L 5 5
D 4 A& > KR mEE H E| mg/L 0.05 0.05
g i = EC E| mS/m 12 12
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bl I % nooE I
Al E it = 7 M K B
= & |4 DS EE
A B 4.13 5.17 6.8 7.13 8.2 9.14 10.5 11.1 12.6 1.10 2.8 3.8 Fi9ME
2 HR B Z 10:10 | 11:32 | 11:16 | 10:58 | 10:17 | 9:45 10:31 | 11:17 | 11:10 | 11:32 | 10:40 | 10:30
ES (3 BN BN -] 5] BN 2D 20 BN BN 2D BN BN
= Pl C 17.4 32.8 23.9 24.0 36.0 31.0 18.8 17.0 18.0 8.5 9.5 11.9 20.7
I; 7K o C 15.8 20.8 19.5 23.0 25.0 23.8 21.3 21.2 16.9 11.9 12.0 13.4 18.7
=] ) El E >50 >50 >50 28 >50 >50 >50 >50 >50 >50 >50 >50 48
pH 8.0 8.0 7.3 7.4 7.7 7.5 7.4 8.6 7.3 7.2 7.3 7.7 7.6
B D| mg/L <0.5 0.7 0.5 2.6 0.9 0.5 0.7 0.7 0.7 <0.5| *10.9 1.2 0.9
C D| mg/L 1.7 2.0 2.5 5.4 3.1 1.6 1.6 1.4 2.1 1.4 1.6 4.0 2.4
4 (S S| mg/L <1 1 2 17 3 1 <1 3 1 2 <1 15 4
if D O mg/L 10 9.9 9.3 8.7 9.7 9.8 10 12 11 11 12 11 10
izn—/\:r—b‘)}ﬂlﬁwg mg/L <2 <2 <2
E|E = & mg/L 2.7 2.4 2.3 1.8 1.6 1.2 1.6 1.9 2.6 3.2 3.1 3.1 2.3
Bla o] Al mg/L 0.36 0.52 0.27 0.21 0.27 0.23 0.39 0.25 0.57 0.32 0.32 0.56 0.36
ES Eidl #a| mg/L 0.030{ 0.021] 0.023| 0.037| 0.023| 0.014( 0.010f 0.002| 0.010| 0.011] 0.005( 0.021f 0.017
J Z ) 7 T J — J| mg/L <0.0002 <0.0002
L A S| mg/L <0.0006 <0.0006
bl N = ) mg/L <0.0005 <0.0005 <0.0005
ES > 77 > mg/L N.D. N.D. N.D.
i mg/L <0.005 <0.005 <0.005
N i z ] [ mg/L <0.01 <0.01 <0.01
[} #&| mg/L <0.005 <0.005 <0.005
#w K R mg/L <0.0005 <0.0005 <0.0005
7 L F )L K R mg/L
P C B[ mg/L N.D. N.D.
z U 0O X 4 2| mg/L <0.002 <0.002 <0.002
] b=t 1t xR 5| ma/L <0.0002 <0.0002 <0.0002
12- 2 o 00 I % > mg/L <0.0004 <0.0004 <0.0004
e 1,1-> o 00XIFL > mg/L <0.01 <0.01 <0.01
B 2 X-1,2-200IFL > mg/L <0.004 <0.004 <0.004
1,1,1- U 2 0O0XI% > mg/L <0.1 <0.1 <0.1
B 1,12- U O00OXI% > mg/L <0.0006 <0.0006 <0.0006
=] U 22 O00IFL > mg/L <0.001 <0.001 <0.001
> 00IFL > mglL <0.0005 <0.0005 <0.0005
13- 0070AR > mglL <0.0002 <0.0002 <0.0002
F ) S 4| mg/L <0.0006 <0.0006
> < > >| mg/L <0.0003 <0.0003 <0.0003
F A X > H JL J| mg/L <0.002 <0.002 <0.002
~N > v >| mg/L <0.001 <0.001 <0.001
t L >| mg/L <0.002 <0.002 <0.002
WBHERRUCBHBEER mo/L 2.4 1.2 1.8
YN =] #&| mg/L 0.14 0.14 0.13 0.10 0.12 0.14 0.12 0.11 0.14 0.15 0.09 0.15 0.13
F > =& mg/L 0.04 0.03 0.04
14- =2 A* F H > mg/L <0.005 <0.005 <0.005
w7 oz o = o @ mon <0.05 <0.05 -
I; Eid] mg/L <0.01 <0.01 <0.01 <0.01 -
z B 1t w it 7 > mg/L 15 20 18
Dz 4 A > R @ E M K| mg/L 0.04 0.02 0.03
ftt S = = L | mS/m 20 19 20 12 16 17 18 19 21 22 21 20 19
F1 2B0BODIEFHH 642 A21HMI : 45(CHAKLIZED
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5 i % o |
A E ih =1 8 B % 15
a F E S5 FEE
A =i 4.13 8.2 10.5 2.8 FIE
= EY = % 10:40 10:52 12:18 11:02
x (3 BBEn BN - 10] BN
ES | c 14.7 29.5 21.3 6.9 18.1
ol # = >50 >50 >50 >50 >50
pH 7.7 8.5 7.5 7.5 7.8
B Dl mg/L | <05 <0.5 0.7 0.7 0.6
C D| mg/L 2.4 2.7 2.6 2.3 2.5
4£1|S S| mg/L 1 <1 <1 <1 1
‘?f D o| mg/L 9.5 8.2 9.7 11 9.6
i;n—/\i-*)‘)}ﬂl&%% mg/L <2 <2
B = % ma/L 0.54 0.25 0.49 0.53 0.45
E1ES n Al mg/L | 0.021 0.013 0.023 0.027 0.021
2 & #| mo/L | 0.023 0.005 0.017 0.034 0.020
J = 7 x J — J| mgL <0.0002 <0.0002
L A s| ma/L <0.0006 <0.0006
b2 K= 0 mg/L <0.0005 <0.0005
2 B2 77 >| mg/L N.D. N.D.
E mg/L <0.005 <0.005
A i o O 4| mg/L <0.01 <0.01
[0} %&| mg/L <0.005 <0.005
#“ X 8| mg/L <0.0005 <0.0005
7 U F K 4B mgL
P c B| mg/L N.D. N.D.
S o O O % 4 > mgL <0.002 <0.002
W™ & b Kk &| mg/L <0.0002 <0.0002
12- 5 00I% > mol <0.0004 <0.0004
Bl Sso0o0TFL o] moL <0.01 <0.01
®|>¥X-12-2o00IFL > moL <0.004 <0.004
L,1,1- U 00T % > mg/l <0.1 <0.1
Bli1o- rusoozxs > mol <0.0006 <0.0006
g/t v ooxF Ly moL <0.001 <0.001
ShS00IFL > myL <0.0005 <0.0005
13- o007 0AR > mgl <0.0002 <0.0002
F 5] S 4| mg/L <0.0006 <0.0006
B 4 s >| mg/L <0.0003 <0.0003
F A R > H L J| mgL <0.002 <0.002
~ > v >| mg/L <0.001 <0.001
t L >| mo/L <0.002 <0.002
HEUEERRUEHEMEEFR| mg/L 0.43 0.43
A > x| mg/L <0.08 <0.08
F > #&| mg/L <0.02 <0.02
1,4 = A F 4 > mglL <0.005 <0.005
ooz o - o om omon <0.05 -
: [ mg/L <0.01 -
z Bt W a4 A > mg/L 2 2
D 4 A& > KR mEE H E| mg/L 0.05 0.05
g i = EC E| mS/m 10 10
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5 i % = B
A E ih =1 9 X = 1&
a F E S5 FE
B =i 6.8 8.2 10.5 126 FIE
= EY = % 11:32 10:46 10:47 10:43
x 1= -] BBEn - 10] BN
ES | c 20.9 27.5 21.8 10.9 20.3
ol # = >50 >50 >50 >50 >50
pH 7.5 7.7 7.4 7.2 7.5
B D| mg/L <0.5 <0.5 0.6 0.6 0.6
C D| mg/L 2.1 3.1 0.9 2.4 2.1
4£1|S S| mg/L 1 <1 <1 <1 1
‘?f D o| mg/L 10 8.8 9.7 10 9.6
i;n—/\i-*)‘)}ﬂl&%% mg/L <2 <2
B e % ma/L 11 1.5 11 2.0 1.4
E1ES n A| mg/L 0.093 0.11 0.089 0.13 0.11
2 & | ma/L 0.028 0.010 0.014 0.016 0.017
J = 7 x J — J| mgL <0.0002 <0.0002
L A s| ma/L <0.0006 <0.0006
b2 K= 0 mg/L <0.0005 <0.0005
2 B2 77 >| mg/L N.D. N.D.
E mg/L <0.005 <0.005
A i o O 4| mg/L <0.01 <0.01
[0} %&| mg/L <0.005 <0.005
#“ X 8| mg/L <0.0005 <0.0005
7 U F K 4B mgL
P c B| mg/L N.D. N.D.
S o O O % 4 > mgL <0.002 <0.002
W™ & b Kk &| mg/L <0.0002 <0.0002
12- 5 00I% > mol <0.0004 <0.0004
Bl Sso0o0TFL o] moL <0.01 <0.01
®|>¥X-12-2o00IFL > moL <0.004 <0.004
L,1,1- U 00T % > mg/l <0.1 <0.1
Bli1o- rusoozxs > mol <0.0006 <0.0006
g/t v ooxF Ly moL <0.001 <0.001
ShS00IFL > myL <0.0005 <0.0005
13- o007 0AR > mgl <0.0002 <0.0002
F 5] S 4| mg/L <0.0006 <0.0006
B 4 s >| mg/L <0.0003 <0.0003
F A R > H L J| mgL <0.002 <0.002
~ > v >| mg/L <0.001 <0.001
t L >| mo/L <0.002 <0.002
HEUEERRUEHEMEEFR| mg/L 1.2 1.2
A > x| mg/L 0.09 0.09
F > #&| mg/L <0.02 <0.02
1,4 = A F 4 > mglL <0.005 <0.005
ooz o - o om omon <0.05 -
: [ mg/L <0.01 -
z Bt W a4 A > mg/L 6 6
D 4 A& > KR mEE H E| mg/L 0.04 0.04
g i = EC E| mS/m 19 19
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5 i % 7 A G Ak
A E ih =1 10 m W B
a F E SIS FEE
A E| 5.17 7.13 11.1 1.10 FIE
= EY = % 10:13 10:00 10:27 10:45
x 1& [T gl 53] =7 gl 20
w K BT 18.5 21.3 15.6 6.2 15.4
s # = >50 >50 >50 40 48
pH 7.2 7.0 8.4 7.3 7.5
B D| mg/L 0.6 1.0 3.5 5.5 2.7
C D| mg/L 2.5 2.9 9.4 14 7.2
%S s| mg/L 1 3 5 10 5
‘?f D o| mg/L 9.0 8.7 8.3 10 9.0
i;n—/\i-*)‘)}ﬂl&%% mg/L <2 <2
B e % ma/L 0.79 0.70 6.4 11 4.7
E1ES ) A| mg/L 0.061 0.063 0.66 1.0 0.45
2 & | ma/L 0.025 0.013 0.016 0.040 0.024
J = 7 x J — J| mgL
L A S| mg/L
b K =0 mg/L <0.0005 <0.0005
2 B2 77 >| mg/L N.D. N.D.
E mg/L <0.005 <0.005
A i o O 4| mg/L <0.01 <0.01
[0} %&| mg/L <0.005 <0.005
#“ X 8| ma/L <0.0005 <0.0005
7 U F K 4B mgL
P c B| mg/L N.D. N.D.
> o oo * 4 > mgL <0.002 <0.002
W™ & b Kk &| mg/L <0.0002 <0.0002
12- 5 00I% > mol <0.0004 <0.0004
B SsooTFL o] moL <0.01 <0.01
E|¥A-L2-S000IFL > mg/L <0.004 <0.004
L,11- U2 O00I% > mglL <0.1 <0.1
Bli1o- rusoozxs > mol <0.0006 <0.0006
g/t v ooxF Ly moL <0.001 <0.001
ShS00IFL > myL <0.0005 <0.0005
13- o007 0AR > mgl <0.0002 <0.0002
F 5] S 4| mg/L <0.0006 <0.0006
> 4 s >| mg/L <0.0003 <0.0003
F A R > H L J| mgL <0.002 <0.002
~ > v >| mo/L <0.001 <0.001
t L >| mo/L <0.002 <0.002
HEUEERRUEHEMEEFR| mg/L 0.59 0.59
A > x| mg/L 0.11 0.11
i 5 % ma/L 0.04 0.04
1,4 = A F 4 > mglL <0.005 <0.005
ooz o - o om omon <0.05 -
: 3R mg/L <0.01 -
z Bt W a4 A > mg/L 6 6
o 1 4 > R EE M F| mL 0.03 0.03
e = & @& = ms/m 11 11
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5 i % Aoo\@ o
A E ih =1 11 % i
a F E S5 FEE
A B 5.17 7.13 9.14 11.1 1.10 3.8 | TME
= EY B 7 9:53 10:32 10:50 10:40 11:04 10:10
x 1 =0 il 20 =0 EY) =0
ES ' 21.1 25.7 26.0 15.6 5.9 9.9 17.4
ol ] Bl = >50 40 >50 >50 >50 >50 48
pH 8.4 7.4 7.2 8.0 7.8 7.7 7.8
B D| mg/L 1.4 2.8 2.3 1.3 1.8 2.2 2.0
C D| mg/L 5.6 7.1 8.1 4.9 7.2 62| 65
%S s| mg/L 5 10 7 1 2 2 5
‘?f D o| mg/L 11 7.8 8.9 9.6 12 10 9.9
i;n—/\i-*)‘)}ﬂl&%% ma/L <2 <
B e % ma/L 13 16 1.0 2.9 5.1 2.8 2.5
B n Al ma/L 0.20 0.20 0.22 0.38 0.63 0.32| 0.33
2 & | mg/L 0.025 0.030 0.023 0.016 0.12 0.030| 0.041
J = 7 x J — J| mgL
L A S| mg/L
b K =0 mg/L <0.0005 <0.0005
2 B2 77 >| mg/L N.D. N.D.
E mg/L <0.005 <0.005
A i o O 4| mg/L <0.01 <0.01
[0} %&| mg/L <0.005 <0.005
“ X 58| mg/L <0.0005 <0.0005
7 U F K 4B mgL
P c B| mg/L N.D. N.D.
S o O O % 4 > mgL <0.002 <0.002
W™ & b Kk &| mg/L <0.0002 <0.0002
12- 5 00I% > mol <0.0004 <0.0004
B s oooTFL o moL <0.01 <0.01
®|>¥X-12-2o00IFL > moL <0.004 <0.004
11,1- hU 00T % > mg/l <0.1 <0.1
Bli1o- rusoozxs > mol <0.0006 <0.0006
g/t v ooxF Ly moL <0.001 <0.001
ShS00IFL > myL <0.0005 <0.0005
13-4 0070AR > myl <0.0002 <0.0002
F 5] S 4| mg/L <0.0006 <0.0006
B 4 s >| ma/L <0.0003 <0.0003
F A R > H L J| mgL <0.002 <0.002
~ > v >| ma/L <0.001 <0.001
t L >| mo/L <0.002 <0.002
HEUEERRUEHEMEEFR| mg/L 1.8 1.8
A > x| mg/L 0.10 0.10
i 5 %| mg/L 0.04 0.04
1,4 = A F 4 > mglL <0.005 <0.005
ooz o - o om omon <0.05 -
: i mg/L <0.01 -
z Bt W a4 A > mg/L 46 46
D 4 A& > KR mEE H E| mg/L 0.05 0.05
| i = EC E| mS/m 35 35
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bl I % A ®#3 I
Al E ith = 12 =
" E:S =4 D5 EE
A B 4.13 5.17 6.8 7.13 8.2 9.14 10.5 11.1 12.6 1.10 2.8 3.8 Fi9ME
2 )3 B Z 10:20 | 10:14 | 10:03 | 11:11 | 10:35 | 9:50 10:43 | 10:27 | 10:00 | 10:17 | 11:10 | 10:14
X (3 BN BN -] 5] BN 2D --10] BN BN 2D BN BN
= Pl C 22.8 31.0 25.6 25.1 32.0 29.0 20.0 23.8 16.9 8.0 7.5 18.6 21.7
Tk o C 22.3 28.0 26.0 24.6 32.6 31.6 29.1 30.1 25.9 21.4 24.9 22.7 26.6
I; i R El E 25 41 >50 >50 >50 >50 >50 43 >50 >50 >50 >50 47
g8 = WOULTR B OULTR (ML TR| #IER | ULTR | ULTR | UL TR |8 UL TR | UL TR 8 UL TR | UL TR [ # UL TR
o B WEE | REE | KEE | BEe | KEE | KEe | KEe | KEe | KEe | Be | KEe | KEe
pH 7.2 6.7 6.8 7.0 6.7 6.7 6.6 6.5 6.6 6.8 6.4 6.7 6.7
B D| mg/L 6.4 6.3 4.6 2.6 5.5 6.9 5.5 9.0 4.9 3.1 9.8 6.0 5.9
C D| mg/L 15 21 18 7.2 21 21 23 27 25 15 32 26 21
4 (S S| mg/L 22 6 10 7 11 9 10 10 5 6 5 7 9
if D O mg/L 8.3 5.9 7.0 8.7 6.0 5.6 5.2 5.4 6.7 7.4 7.0 10 6.9
i: n - ANF Y > H Y B mg/lL <0.5 <0.5 <0.5
E|E £ =& mg/L 3.4 1.7 1.8 1.0 1.7 1.7 2.3 2.1 2.6 3.5 2.8 2.6 2.3
SIES o] Al mg/L 0.20 0.16 0.11| 0.095 0.12 0.15 0.16 0.15 0.12 0.10] 0.072 0.18 0.13
ES il #a| mg/L 0.044 0.027| 0.044| 0.033| 0.040( 0.021f 0.022| 0.019| 0.032| 0.027| 0.045 0.028( 0.032
J Z I 7 T J — JU mg/L <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
L A S| mg/L 0.014 0.024 0.0090 0.018 0.016
sl N = 2 mg/L <0.0005 <0.0005 <0.0005
ES > 77 > mg/L N.D. N.D. N.D.
i mg/L <0.005 <0.005 <0.005
N i z ] | mg/L <0.01 <0.01 <0.01
[} #&| mg/L <0.005 <0.005 <0.005
# 7K R} mg/L <0.0005 <0.0005 <0.0005
7 L F )L K R mg/L
P C B[ mg/L N.D. N.D.
Z 0 O O X 4 > mg/L <0.002 <0.002 <0.002
] = 1t " =& mg/L <0.0002 <0.0002 <0.0002
12- 2 - 00 I % > mg/l <0.0004 <0.0004 <0.0004
e ,1-> 2 00IFL > mg/l <0.01 <0.01 <0.01
B 2 X-1,2-200IFL > mg/L <0.004 <0.004 <0.004
1,1,1- U 2 0O0XI% > mg/L <0.1 <0.1 <0.1
B 1,1,2- U o O00XI#% > mg/L <0.0006 <0.0006 <0.0006
=] YU 2 O00IFL > mg/l <0.001 <0.001 <0.001
S hc>200IFL > mo/L <0.0005 <0.0005 <0.0005
1,3- o007 0OA/R > mg/lL <0.0002 <0.0002 <0.0002
F 2 > | mg/L <0.0006 <0.0006 <0.0006
> ~ = >| mg/L <0.0003 <0.0003 <0.0003
F A X > H J J| mg/L <0.002 <0.002 <0.002
~N > v >| mg/L <0.001 <0.001 <0.001
R4 L >| mg/L <0.002 <0.002 <0.002
HBEMERRUCEHBEEERl mg/L 0.35 0.63 0.49
YN = #&| mg/L <0.08 <0.08 <0.08
F > =& mg/L <0.02 0.04 0.03
14- =2 A® F H > mg/L <0.005 <0.005 <0.005
"7 o= - UL 8 mg/L 0.01 0.01 0.01
I; £ mg/L <0.01 <0.01 <0.01 <0.01 -
z = 1t w it 7 > mg/L 64 100 82
Dz 4 A > R @ E M K| mg/L 0.34 0.49 0.42
e B = = £ | mS/m 55 100 88 29 90 90 100 140 140 86 150 110 98
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5 i % o om
A E ih =1 13 R & B 1B
a F E SIS FEE
A B 5.17 7.13 111 1.10 FIE
= EY = % 9:34 10:03 9:30 9:36
x 1& [T gl 53] =7 gl 20
ES | c 22.0 23.8 17.0 9.0 18.0
ol # = >50 >50 >50 >50 >50
pH 7.7 7.2 7.1 7.0 7.3
B D| mg/L 1.4 2.3 1.9 2.1 1.9
C D| mg/L 4.1 3.0 4.6 6.2 4.5
%S s| mg/L 1 5 4 2 3
‘?f D o| mg/L 12 9.2 9.8 11 11
i;n—/\i-*)‘)}ﬂl&%% mg/L <2 <2
Ic1ES = #&| mg/L 3.4 2.6 4.1 6.5 4.2
E1ES n Al ma/L 0.24 0.15 0.41 0.69 0.37
2 & | ma/L 0.029 0.036 0.021 0.040 0.032
J = L 7 x J — I mgL
L A S| mg/L
b K =0 mg/L <0.0005 <0.0005
2 B2 77 >| mg/L N.D. N.D.
E mg/L <0.005 <0.005
A i o O 4| mg/L <0.01 <0.01
[0} %&| mg/L <0.005 <0.005
#“ X 58| mg/L <0.0005 <0.0005
7 U F K 4B mgL
P c B| mg/L N.D. N.D.
S o O O % 4 > mgL <0.002 <0.002
W™ & b Kk &| mg/L <0.0002 <0.0002
12- 5 00I% > mol <0.0004 <0.0004
B SsooTFL o] moL <0.01 <0.01
B> X-12-2o00IFL > moL <0.004 <0.004
L,1,1- U 00T % > mg/l <0.1 <0.1
Bli1o- rusoozxs > mol <0.0006 <0.0006
g/t v ooxF Ly moL <0.001 <0.001
ShS00IFL > myL <0.0005 <0.0005
13- o007 0AR > mgl <0.0002 <0.0002
F 5] S 4| mg/L <0.0006 <0.0006
B 4 s >| mg/L <0.0003 <0.0003
F A R > H L J| mgL <0.002 <0.002
~ > v >| mg/L <0.001 <0.001
t L >| mo/L <0.002 <0.002
HEUEERRUEHEMEEFR| mg/L 2.7 2.7
A > x| mg/L 0.08 0.08
F > #&| mg/L <0.02 <0.02
1,4 = A F 4 > mglL <0.005 <0.005
ooz o - o om omon <0.05 -
: i mg/L <0.01 -
z Bt W a4 A > mg/L 19 19
D 4 A& > KR mEE H E| mg/L 0.06 0.06
g i = EC E| mS/m 21 21
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5 i % o om
A E ih =1 14 E & B
a F E S5 FEE
A E| 5.17 7.13 9.14 11.1 1.10 3.8 | TE
= EY B % 9:59 10:53 9:30 10:10 10:03 9:54
x 12 =0 il 20 =0 EY) =0
ES e 21.6 24.2 25.6 17.3 7.4 108 17.8
ol 8 I >50 >50 >50 >50 >50 550/  >50
pH 7.3 7.2 7.3 7.0 7.0 700 71
B D| mg/L 1.2 1.7 0.7 1.0 0.5 2.3 1.2
C D| mg/L 4.3 3.9 2.7 3.1 4.7 45 3.9
%S s| mg/L 1 5 1 1 1 2 2
‘?f D o| mg/L 10 9.0 10 7.9 8.3 9.7 9.2
i;n—/\i-*)‘)}ﬂl&%% mg/L <2 <2
B e % ma/L 3.3 16 2.5 3.4 5.2 40 33
B2 ) A| mg/L 0.29 0.11 0.15 0.24 0.42 0.30| 0.25
ES ] | mg/L 0.032 0.038 0.025 0.022 0.033 0.038) 0.031
J = 7 x J — J| mgL
L A S| mg/L
b K =0 mg/L <0.0005 <0.0005
ES B2 77 >| mg/L <0.1 N.D.
E mg/L <0.005 <0.005
A i o O 4| mg/L <0.01 <0.01
[0} %&| mg/L <0.005 <0.005
“ X 8| ma/L <0.0005 <0.0005
7 U F K 4B mgL
P c B| mg/L N.D. N.D.
S o O o % 4 > mgL <0.002 <0.002
W™ & b Kk &| mg/L <0.0002 <0.0002
12- 5 00I% > mol <0.0004 <0.0004
Bl Sso0o0TFL o] moL <0.01 <0.01
E|¥A-L2-S000IFL > mg/L <0.004 <0.004
L,11- U2 O00I% > mglL <0.1 <0.1
Bli1o- rusoozxs > mol <0.0006 <0.0006
g/t v ooxF Ly moL <0.001 <0.001
ShS00IFL > myL <0.0005 <0.0005
13- 00 7 0AR > mgl <0.0002 <0.0002
F 5] S 4| mg/L <0.0006 <0.0006
> 4 s >| mg/L <0.0003 <0.0003
F A R > H L J| mgL <0.002 <0.002
~ > v >| mg/L <0.001 <0.001
t L >| mo/L <0.002 <0.002
HEUEERRUEHEMEEFR| mg/L 2.2 2.2
& > x| mg/L 0.08 0.08
i 5 %[ mg/L 0.02 0.02
1,4 = A F 4 > mglL <0.005 <0.005
ooz o - o om omon <0.05 -
: i mg/L <0.01 -
z Bt W a4 A > mg/L 17 17
D 4 A& > KR mEE H E| mg/L 0.05 0.05
g i = EC E| mS/m 21 21
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5 i % -
A E ih =1 15 %7 it & 48
a F E S5 FEE
A E| 1 | 517 | 619 | 713 | 84 | 914 | 1013 | 111 | 1227 | 110 | 216 | 3.8 | TE
= EY B % 10:38 | 11:00 | 11:30 | 9:50 | 10:05 | 9:56 | 10:45 | 9:20 | 10:30 | 9:18 | 10:32
x (3 BN BEn 5] BN [-19] BBEn BN BN [-19] BEn BN
ES RS 22.4 225 231 26.8 255 197 187 13.2 12.8] 205
ol 8 I >50 >50 >50 >50 >50 >50]  >50
pH 73] 73] 73] 76| 73] 74 73] 70/ 69 69 71 7.2
B D| mg/L 1.0 1.4 0.5 0.9 <0.5 11 0.9
C D| mg/L 3.2 3.7 2.2 2.1 13 33 26
%S s| mg/L 3 5 1 1 <1 1 2
‘?f D o| mg/L 10 9.1 9.0 9.6 10 10 9.8 11 9.8
i;n—/\i-*)‘)}ﬂl&%% ma/L <2 <2
B e % ma/L 2.3 15 1.0 2.6 2.0 73 28
B2 ) A| mg/L 0.10 0.10 0.084 0.17 0.062 0.14) 0.1
2 & | mg/L 0.021 0.034 0.024 0.010 0.015 0.024| 0.021
J = 7 x J — J| mgL
L A S| mg/L
b K =0 mg/L <0.0005 <0.0005
ES B2 77 >| mg/L <0.1 N.D.
E mg/L <0.005 <0.005
A M £ 0O Al mgL 0.04 o001 001 o001 o001 o002 o0.01] o003 o004 o001 002 o002
[0} %&| mg/L <0.005 <0.005
“ X 8| ma/L <0.0005 <0.0005
7 U F K 4B mgL
P c B| mg/L N.D. N.D.
S o O O % 4 > mgL <0.002 <0.002
W™ & b Kk &| mg/L <0.0002 <0.0002
12- 5 00I% > mol <0.0004 <0.0004
Bl Sso0o0TFL o] moL <0.01 <0.01
E|¥A-L2-S000IFL > mg/L <0.004 <0.004
L,11- U2 O00I% > mglL <0.1 <0.1
Bli1o- rusoozxs > mol <0.0006 <0.0006
g/t v ooxF Ly moL <0.001 <0.001
ShS00IFL > myL <0.0005 <0.0005
13- o007 0AR > mgl <0.0002 <0.0002
F 5] S 4| mg/L <0.0006 <0.0006
> 4 s >| mg/L <0.0003 <0.0003
F A R > H L J| mgL <0.002 <0.002
~ > v >| mg/L <0.001 <0.001
t L >| mo/L <0.002 <0.002
HEUEERRUEHEMEEFR| mg/L 1.6 1.6
A > x| mg/L <0.08 <0.08
i 5 %[ mg/L 0.03 0.03
1,4 = A F 4 > mglL <0.005 <0.005
ooz o - o om omon <0.05 -
: i mg/L <0.01 -
z Bt W a4 A > mg/L 15 15
D 4 A& > KR mEE H E| mg/L 0.05 0.05
g i = EC E| mS/m 20 20
E1 4RI TEORSHRA
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5 i % x I
A E ih =1 16 M &® 1B
a F E S5 FEE
A B 517 | 6.8 8.2 105 | 11.1 2.8 FIE
% EY = 7 10:43 | 10:38 11:40 11:23 | 10:00 14:00
x (3 BN -] BN - 10] BN BEn
ES ' 21.6| 201 28.6 213 165 12.2 20.1
ol ] Bl = >50|  >50 >50 >50|  >50 >50 >50
pH 8.4 7.1 7.4 7.5 7.7 7.7 7.6
B D| mg/L 1.6 0.6 1.9 1.6 1.4
c D| mg/L 4.7 4.8 4.9 5.3 4.9
#|s s| mg/L 8 3 8 2 5
‘?f D o| mg/L 10 9.5 8.9 9.3 10 13 10
i;n—/\:\’-b“/}ﬂl&%%‘ ma/L < <
B = %| mg/L 1.6 11 4.5 2.8 2.5
E1ES n Al ma/L 0.17 0.15 0.17 0.18 0.17
2 & | ma/L 0.039 0.020 0.034 0.071 0.041
J = L 7 x J — I mgL <0.0002 <0.0002
L A s| ma/L 0.0065 0.0065
b2 K= 0 mg/L <0.0005 <0.0005
2 B2 77 >| mg/L N.D. N.D.
£ mg/L <0.005 <0.005
A i o O 4| mg/L <0.01 <0.01
[6) %&| mg/L <0.005 <0.005
“ X 58| mg/L <0.0005 <0.0005
7 U F K 4B mgL
P c B| ma/L N.D. N.D.
T o O O % 4 > mgL <0.002| <0.002 <0.002 <0.002| <0.002 <0.002 <0.002
m & ® % mg/L <0.0002|<0.0002 <0.0002 <0.0002|<0.0002 <0.0002 <0.0002
12- 5 00I% > mol <0.0004|<0.0004 <0.0004 <0.0004|<0.0004 <0.0004 <0.0004
Bl Sso0o0TFL o] moL <0.01| <0.01 <0.01 <0.01| <0.01 <0.01 <0.01
®|>¥X-12-2o00IFL > moL <0.004| <0.004 <0.004 <0.004| <0.004 <0.004 <0.004
1,1,1- U o O00XI#% > mg/L <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
Bli12-rusooxT s> moL <0.0006|<0.0006 <0.0006 <0.0006|<0.0006 <0.0006 <0.0006
g/t v ooxF Ly moL <0.001| <0.001 <0.001 0.002| 0.001 0.001 0.001
ShS00IFL > myL <0.0005(<0.0005 <0.0005 <0.0005|<0.0005 <0.0005 <0.0005
13- o007 0AR > mgl <0.0002|<0.0002 <0.0002 <0.0002{<0.0002 <0.0002 <0.0002
F 5] S 4| mg/L <0.0006 <0.0006
B 4 s >| ma/L <0.0003 <0.0003
F A R > H L J| mgL <0.002 <0.002
~ > v >| ma/L <0.001| <0.001 <0.001 <0.001| <0.001 <0.001 <0.001
t L >| mg/L <0.002 <0.002
HEUEERRUEHEMEEFR| mg/L 1.3 1.3
A > %| ma/L 0.10 0.10
i 5 %| mg/L 0.03 0.03
1,4 = A F 4 > mglL <0.005 <0.005
ooz o - o om omon <0.05 -
: [ mg/L <0.01 -
zE £ W o A > mor 16 16
D 4 A& > KR mEE H E| mg/L 0.09 0.09
g i = EC E| mS/m 20 20
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5 i % wm T o
A E ih =1 17 X £ 1B
a F E S5 FEE
A B 5.17 7.13 9.14 11.1 1.10 3.8 | TME
% EY = 7 10:29 10:15 10:30 9:52 10:21 9:35
ES 1 =0 il 20 =0 EY) =l
w K BT 21.7 23.3 25.3 14.4 5.5 8.6 16.5
ol ] {5 >50 36 >50 >50 >50 30 44
pH 7.6 7.1 7.1 7.3 7.0 7.3 7.2
B D| mg/L 2.3 2.3 1.2 3.2 3.7 6.0 3.1
c D| mg/L 5.3 6.1 3.9 6.9 12 11 7.5
#|s s| mg/L 4 11 6 2 3 7 6
‘?f D o| mg/L 10 7.7 8.8 9.8 12 10 9.7
i;n—/\i-*)‘)}ﬂl&%% ma/L <2 <2
B = %| mg/L 1.7 1.5 0.80 7.4 8.1 62| 43
E1ES n Al ma/L 0.21 0.19 0.12 0.99 0.61 0.66| 0.46
2 & | mg/L 0.030 0.026 0.019 0.042 0.064 0.068| 0.042
J = L 7 x J — I mgL
L A S| mg/L
b K =0 mg/L <0.0005 <0.0005
ES B2 77 >| mg/L <0.1 N.D.
£ mg/L <0.005 <0.005
A i o O 4| mg/L <0.01 <0.01
[6) %&| mg/L <0.005 <0.005
“ X 58| mg/L <0.0005 <0.0005
7 U F K 4B mgL
P c B| ma/L N.D. N.D.
S o O O % 4 > mgL <0.002 <0.002
m & ® % mg/L <0.0002 <0.0002
12- 5 00I% > mol <0.0004 <0.0004
Bl Sso0o0TFL o] moL <0.01 <0.01
®|>¥X-12-2o00IFL > moL <0.004 <0.004
L,1,1- U 00T % > mg/l <0.1 <0.1
Bli1o- rusoozxs > mol <0.0006 <0.0006
g/t v ooxF Ly moL <0.001 <0.001
ShS00IFL > myL <0.0005 <0.0005
13- o007 0AR > mgl <0.0002 <0.0002
F 5] S 4| mg/L <0.0006 <0.0006
B 4 s >| ma/L <0.0003 <0.0003
F A R > H L J| mgL <0.002 <0.002
~ > v >| ma/L <0.001 <0.001
t L >| mg/L <0.002 <0.002
HEUEERRUEHEMEEFR| mg/L 4.2 4.2
A > %| ma/L <0.08 <0.08
F 5 %| mg/L 0.02 0.02
1,4 = A F 4 > mglL <0.005 <0.005
ooz o - o om omon <0.05 -
: [ mg/L 0.01 0.01
z Bt W a4 A > mg/L 45 45
D 4 A& > KR mEE H E| mg/L 0.19 0.19
g i = EC E| mS/m 38 38
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